EHERBFAERLA

Huatuo Enterprise Co., Ltd

2000h at 105C

LHA CD136

= Feafures
e Standard at 105°C
® RoHS Compliant
= Applications
® Professional Inverters and Power Supplies

Items Characteristics
Operating Temperature Range (°C) -40 ~+105 -25~+105
Voltage Range (V) 25~100 160 ~ 450
Capacitance Range (uF) 220 ~ 33000
Capacitance Tolerance (20°C, 120Hz) + 20%

After 5 minutes at 20°C application of rated voltage, leakage
current is not more than 0.01CV or 5SmA, whichever is smaller.
C: Nominal Capacitance (UF) V:Rated Voltage (V)

Leakage Current (uA)

Dissipation Factor (20°C, 120Hz) Less than values shown in the standard ratings

Leakage Current

Not more than specified value

Useful Life Load Life Endurance Test Shelf Life
Lifetime >4000h >200000h 2000h 2000h 1000h
Not more than Not more than Not more than

specified value

specified value

specified value

Capacitance Change

Within + 30% of initial value

Within + 20% of initial
value

Within + 10% of initial
value

Within + 20% of initial
value

Dissipation Factor

Not more than 300% of specified value

Not more than 200% of
specified value

Not more than 130% of
specified value

Not more than 200% of
specified value

Condition: After fest:
Applied Voltage U, . Ug Ug U,=0 |U, fo be applied
Applied Current e 1.2x1, Iy =0 I, =0 |for 60min
N o o o o o~ |>24h bef
Applied Temperature 105°C 40°C 105°C 105°C 105°C mecsufe%' :m
Dimensions mm Part Number System

Insulation sleeve  Insulation plate OO0 WA OO0 O OO0 O bl

: g Case size
- 7 Sleeve Color
Terminal Code

Capacitance tolerance

L+2max Rated Capacitance

Series
Rated voltage

Ripple Current Coefficient

FrequencyMz) | 5060 | 120 | 300 | 1k | >10¢
Rated Voltage(V)
MI12x16 25~100 0.95 1.00 1.04 1.10 1.15
(M8x12 for ©36) 160~250 0.90 1.00 1.08 1.15 1.20
350~450 0.80 1.00 1.18 1.35 1.40
©D/mm 3 3l 64 7 70 Ambient Temp('C 20 | 5 | 70 | 8 | 105
P/mm 12.7 220 28.2 31.4 31.4 mbient Temp(C)
25~100V 4.9 3.9 3.0 1.8 1.0
*Hex head screw M5 x 10 and Mé x 12 are standard screws. Coefficient 160~250V 3.8 3.3 2.5 2.0 1.0
Longer screws are available on request. 350~450V 2.44 2.28 2.12 2.0 1.0

*Max tightening torque for screw terminanl M5: 3Nm, Mé: 4Nm.
Max troque for bolt mounting M12: 12.5Nm.

*Screws, Bracket and cap nut will be delivered separately.
See “Accessories” for shape and dimensions.

The useful life can be prolonged by operating capacitor at loads below the rated
values (e.g. lower operating voltage, Rms ripple current or ambient temperature)
and by appropriate cooling measures.

It is advisable not to apply aripple current exeeding the rated ripple current
without any cooling measures as this will shorten capacitor’ s life.

49



1£ = I\E
LHA CD136 (C-CON) *HEEFBFHRLT

Ratings for CD 136 Series

. Ug Rateq |Dissipation| oo pep Ei?:;ce’ . Ug Rateq |Dissipation| o rop 5%*32 ;
urge Capa- Feeiter 20, Current =& (Surge Capa- reEEr 20°C Current Size
Voltage) citance 20c, 120Hz 105°C, POxL Voltage) citance Ao, 120H’z 105°C POxL
Code 120Hz 120Hz Code 120Hz 120Hz
(v) (KF) = (mQ) (Arms) (mm) (V) (KF) = (mQ) (Arms) (mm)
10000 0.35 25 2.9 3653 470 0.15 265 1 36%53
15000 0.35 20 4.2 36%83 680 0.15 186 1.1 36%53
22000 0.40 13 5.1 36 %83 1000 0.15 125 1.7 36x83
25 33000 0.40 10 6.3 36 %100 1500 0.15 85 2 36x83
(32) 47000 0.40 7 8 51x75 160 2200 0.15 55 2.7 36x 100
1E 68000 0.50 6 10 51x115 (22‘2?) 3300 0.15 38 3.5 51 %83
100000 0.60 5 1.3 64%96 4700 0.15 35 4.4 51 %96
150000 0.80 4 12.9 64x115 6800 0.15 25 5.9 6496
220000 1.00 3 14.8 77x115 10000 0.15 15 7.6 77 %96
330000 1.00 2 19.9 90x131 15000 0.15 11 10.3 77 x 130
6800 0.30 25 2.6 36 %53 22000 0.15 6 13.2 90 131
10000 0.30 20 3.7 36 %83 330 0.15 375 0.8 36x53
15000 0.30 13 4.5 36x83 470 0.15 262 ] 3653
ii) 22000 0.35 10 (585] 36x 100 680 0.15 180 1.1 36%53
(8 [ 33000 | 0.0 7 67 51x75 1000 0.15 125 17| 36x83
47000 0.45 [ 8.1 51 %96 200 1500 0.15 75 22 36x 100
68000 0.50 5 10 51x115 (250) 2200 0.15 50 28 51 %75
100000 0.60 4 12.1 64x115 2P 3300 0.15 36 3.7 51x96
150000 0.70 3 13.8 77%115 4700 015 24 4.9 A% 96
220000 0.70 2 17.6 90 131 2800 5.5 v %3 LI
3300 0.20 50 22 3653 10000 0.15 12 8.1 77x115
2700 S = SE0 3653 15000 0.15 6 109 | 90x131
6800 0.25 32 3.4 36x83 330 015 160 08 3653
50 10000 0.25 22 4.1 36%83 /50 015 - : E—
(63) | 15000 0.30 14 49 36100 680 0.15 85 1.4 36x83
H 22000 0.35 10 5.9 51%75 500 E = e PR
33000 0.40 7 7.8 51%x115 250 1500 015 20 03 51575
;‘;888 8-22 Z :"]'56 66:‘::"5 (3203) 2200 0.15 28 3. 51x96
- : 3300 0.15 20 4.2 64x96
100000 0.50 4 14.1 77%115 2700 005 " ) wax 118
150000 0.50 3 18.9 90 131
5500 o = o~ v 6800 0.15 10 6.9 64x115
10000 0.15 8 9.3 77x155
3300 0.20 0 22 3653 15000 0.15 6 12.2 90x 157
4700 0.20 36 3.1 36%83 1000 05 = 2o 51575
63 6800 0.20 25 3.7 36x83 :
(79) 10000 0.25 20 4.4 36 %100 1200 0.15 70 4.7 SEiCs
0 15000 0.25 14 57 51x75 Lout 15 42 =6 S1x11S
22000 0.30 10 6.8 5196 1800 0.15 22 64 51x130
33000 0.30 7 9.2 64x96 —0 D12 30 7.0 6496
47000 0.35 3 10.9 64%115 2200 AL 22 8.3 SLCLLS
omo 0w s T 5 Lol | g (e eis e e
100000 0.40 4 17.2 90 131 (450) : :
2200 015 57 o 3653 2G 3900 0.15 18 10.6 77x115
s T & B ST 4700 0.15 13 13.5 64%195
2700 0.15 57 3.6 36x83 4700 0.15 13 12.1 77 %130
“8(%) 6800 0.20 19 4 36% 100 2288 8'1 S 12 15.0 64X 195
1K 10000 0.20 17 5.2 51x75 oS 12 14.3 77X155
15000 0.25 11 6.2 51%96 6800 0.15 1 16.7 20x 157
22000 0.25 8 8.2 64x96 E200 0,18 10 Lo A 5/
5000 0.30 > % 77%96 10000 0.15 9 22.0 90% 196
47000 0.30 6 12.5 77x115 220 0.15 415 1.1 36x53
68000 0.30 5 16.4 90% 131 330 0.15 277 1.5 36x100
1000 015 70 14 36%53 470 0.15 195 2.1 51%83
1500 0.15 55 1.7 36%53 680 0.15 135 2.7 S1x96
2200 0.15 38 2.5 36%83 (2(5)8) 1000 0.15 90 4.2 51x 100
3300 0.15 25 3 36%83 2W 1500 0.15 54 5.7 51 %130
4700 0.15 21 3.9 36 100 2200 0.15 88 78 64x115
100 4800 0.15 19 5 51 %75 3300 0.15 22 10.1 77 %130
(125) ™ o000 015 13 6.5 51%96 4700 015 15 126 | 77x155
15000 0.20 9 7.6 64%96 5600 0.15 11 15.8 ?20x 157
22000 0.20 7 9.7 77 %96 Mounting code(” B” for bolt mounting, “Y/I/N” for bracket mounting )j
33000 0.25 s 11.8 77 130 Terminal options(A,B,C see “Dimensions” for details.)
47000 0.25 5 15 90 131

50



